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Section-A

gus-H

(Very Short Answer Type Questions)

(s g FadT 5e)
Answer all the five questions. Each question
carries 3 marks. Very short answer is required not

exceeding 75 words. 3x5=15
a9 g9 & I AR | dE 99T 3 of

B 2 | A 75 et § oy @Y I o
2 |

“Statistics is a Science of Counting." Explain.

“mwwﬁm%:”iﬁ%}wqﬁm,

Whatare the main limitations of Statistics ?

Wﬁﬁﬂg@zﬂmﬂw%?
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What arc the diflerences between primary and
secondary data ?

e o facias que & aar orae ¥ 7

4. I'rom the following continuous series prepare the

(1) less than (ii) more than cumulative series -

frriifeea wmerg Ao @ (i) @ 9 (i) @ S T

oft ST -

0-10 | 8 |
10-201 12

20-30| 30

30-40| 25
4ﬂ—5(]_T
s0-60] 17

5. The deviations of six numbers fi

om assumed

mean 10 arcas follows, Wiya¢ arc the numbers apg

whatis the value of theiy mean ?
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-4 +2 -3 +1 0 +10.

Section-B
que-§
(Short Answer Type Questions)
(g wwtr )
Answer any two questions out of the following
three questions. Each question carries 71 marks.

Short answer is required not exceeding 200
words. 7/x2=15

Frafefes 9 ueit & & Bt @ usdi 3 gev
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In the frequency distribution of 100 fami lies given
below. the number of familics corresponding 1o
expenditure group 20-40 and 60-80 are missing
{rom the table. However, the median is known to

be 50. Find the missing frequencies :

T2 Re 1 100 ofEr % emafi Rawer & 2040
AR 60-80 A =l & Frfery ufary &) wear

ST @ | feb A S0 3 ¥ 1 v ovaRwd
fevepTfeng -

Expenditure | Numberof Famjlies |

()

0-20 TR
2040 ?
40 - 60 27
60~ 80 9.
B 80 - ll}U" 1 15
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7. Thesize ofthe collar 0200 students in a col lege s
givenbelow. Find out the modal size of the collar -
! e & 200 ot o SR 79 B R
B T & | T A g 7 R fif
: lar Me nt |
Size of Collar Collar Measurement
. (cm.)
32 4
33 11
34 ' 27
35 25
36 32
37 31
38 13
39 11
40 33
41 13
_'__‘_-__-_‘—\—-___
8. Calculate mean apq median [rom the following
data :
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i @bl @ W A od aigE S
Fifore :

Wages No. of Workers
(%)
Lessthan 8 5 |
Lessthan 16 12
8-24 29
24 and above 31
3240 8
40 and above 19
48 and above 5
Section-C
qoe-q

(Detailed Answer Type Questions)

(fereger Sl st

Answer any three questions out of the following

five questions. Fach question carries 15 marks

Answer is required i *
quired in detai], _
N.EP-I!B? 15%3=45
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gt @ T
aﬁiﬂlqﬁifw{ﬂ:{lﬁaﬁﬂgl
SRR E

. ness from
nt of skew
Bowley's coeflicte

9. Calculate
{lowing data:
;:;rﬂ it & aeq & faer s @l T
ﬁﬁq : — . . |
~iarks (More than) | No.of Students
— o 150
15 140
30 100
45 80
60 70
75 30
90 14
105 _,E ______
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In the lollowing grouped data, X arc the mid-
values of the class intervals and C is the assumed

mean. If the arithmetic mean is 35.84, find thé

class intervals :

i it & & X aivady o -
AN C R ey ¥ | 3R T e 35.84 3,
é‘rmaﬁrzﬁﬁq:

X-c | f
-_‘"————__

-21 2

-14 12

=7 19

0 29

7 20

14 13

21 s
Total T .
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1{_1 . It astrai aht trend by the method of Icast squares
to the following data. Als.o plot the original data
and trend value on a Graph paper :

i et & =g ot A & T W
S B SR i | Ak wHer oo
ST Jedt Bt fage T R <f i :

Year | Sales of TV Sets

(in thousands)

2016 7

2017 10

2018 12

2019 14

2020 17

2021 24
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Freifesd EHeR & S & 99 AR Jog X

12, Fromthe following data, which Index Number do

ReA HEH 0TI ) o1 BT -
| : ' S | lation | Deaths
vou consider appropriate to construct and why ? Region Arn.a(sq.E?_} Popu
' A 250 40.000 | 480
Prepare that index : B 150 75,009 1,200
| o c | 120 72,000 | 1,080
. . ! :
FifeT ol @ oo Rrg Plais @ fmi B 20 | 20,000 | 280
Soa ww @ ok @t ? 9| P @ Rt
| | ]
Rice Wheat Jowar
Year -
Price| Qty. Price |Qty.
2016 | 9.3 | 100 5115
LZ{]Q{J 4.5 | 90 2713
13, Calewate coellicient gf correlation between
density of populition and deg(hy ale l'mm/lJl@
following data - NEP-1037-1_2
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